Test Series: March, 2021
MOCK TEST PAPER 1
FINAL (NEW) COURSE: GROUP - |
PAPER - 1: FINANCIAL REPORTING

Question No.1 is compulsory. Candidates are required to answer any four questions from the
remaining five questions.

Wherever necessary, suitable assumptions may be made and disclosed by way of a note.
Working notes should form part of the answers.
Time Allowed - 3 Hours Maximum Marks - 100

1. (a) DEF Ltd. acquired 100% ordinary shares of Rs. 100 each of XYZ Ltd. on 1st October 20X1. On
31stMarch, 20X2 the summarised Balance Sheets of the two companies were as given below:

DEF Ltd. XYZ Ltd.
Assets
Property Plant Equipment
Land & Buildings 15,00,000 18,00,000
Plant & Machinery 24,00,000 13,50,000
Investment in XYZ Ltd. 34,00,000 -
Inventory 12,00,000 3,64,000
Financial Assets
Trade Receivable 5,98,000 4,00,000
Cash 1,45,000 80,000
Total 92,43,000 39,94,000
Equity & Liabilities
Equity Capital (Shares of Rs. 100 each fully paid) 50,00,000 20,00,000
Other Equity
Other reserves 24,00,000 10,00,000
Retained Earnings 5,72,000 8,20,000
Financial Liabilities
Bank Overdraft 8,00,000 -
Trade Payable 4,71,000 1,74,000
Total 92,43,000 39,94,000

The retained earnings of XYZ Ltd. showed a credit balance of Rs. 3,00,000 on 1st April 20X1 out
of which a dividend of 10% was paid on 1st November; 20X1 DEF Ltd. has recognised the
dividend received to profit or loss account; Fair Value of Plant & Machinery as on 1st October
20X1 was Rs. 20,00,000. The rate of depreciation on plant & machinery is 10%.

Following are the increases on comparison of Fair value as per respective Ind AS with Book
value as on 15t October 20X1 which are to be considered while consolidating the Balance Sheets.

Liabilities Amount | Assets Amount
Trade Payables 1,00,000 | Land & Buildings 10,00,000
Inventories 1,50,000
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Notes:

1.t may be assumed that the inventory is still unsold on balance sheet date and the Trade
Payables are also not yet settled.

2. Also assume that the Other Reserves of both the companies as on 31st March 20X2 are the
same as was on 1st April 20X1.

3. All fair value adjustments have not yet started impacting consolidated post-acquisition

profits.

4. Investmentin XYZ Ltd is carried at cost in the separate financial statements of DEF Ltd.

5. Appreciation of Rs.10 lakhs in land & buildings is entirely attributable to land element only.

6. Depreciation on plant and machinery is on WDV method.

7. Acquisition-date fair value adjustment to inventories of XYZ Ltd. existing at the balance sheet
date does not result in need for any write-down.

Prepare consolidated Balance Sheet as on 31st March, 20X2. (14 Marks)

(b) Rainbow Limited is carrying out various projects for which the company has either received
government financial assistance or is in the process of receiving the same. The company has
received two grants of Rs. 1,00,000 each, relating to the following ongoing research and
development projects:

()  The first grant relates to the “Clean river project” which involves research into the effect of
various chemicals waste from the industrial area in Madhya Pradesh. However, no major
steps have been completed by Rainbow limited to commence this research as at
31st March, 20X2.

(i) The second grant relates to the commercial development of a new equipment that can be
used to manufacture eco-friendly substitutes for existing plastic products. Rainbow Limited
is confident about the technical feasibility and financial viability of this new technology which
will be available for sale in the market by April 20X3.

In September 20X1, due to the floods near one of its factories, the entire production was lost and
Rainbow Limited had to shut down the factory for a period of 3 months. The State Government
announced a compensation package for all the manufacturing entities affected due to the floods.
As per the scheme, Rainbow Limited is entitled to a compensation based on the average of
previous three months’ sales figure prior to the floods, for which the company is required to
submit an application form on or before30t June, 20X2 with necessary figures. The financial
statements of Rainbow Limited are to be adopted on 31st May, 20X2, by which date the claim
form would not have been filed with the State Government.

Suggest the accounting treatment of, if any, for the two grants received and the flood-related
compensation in the books of accounts of Rainbow Limited as on 31st March, 20X2. (6 Marks)

2 (a) During 20X4-X5, Cheery Limited discovered that some products that had been sold during
20X3-X4 were incorrectly included in inventory at 31st March, 20X4 at Rs. 6,500.

Cheery Limited’s accounting records for 20X4-X5 show sales of Rs. 104,000, cost of goods sold
of Rs. 86,500 (including Rs. 6,500 for the error in opening inventory), and income taxes of
Rs. 5,250.
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In 20X3-X4, Cheery Limited reported:

Rs.
Sales 73,500
Cost of goods sold (53,500)
Profit before income taxes 20,000
Income taxes (6,000)
Profit 14,000
Basic and diluted EPS 2.8

The 20X3-X4 opening retained earnings was Rs. 20,000 and closing retained earnings was
Rs. 34,000. Cheery Limited’s income tax rate was 30% for 20X4-X5 and 20X3-X4. It had no
other income or expenses.

Cheery Limited had Rs. 50,000 (5,000 shares of Rs. 10 each) of share capital throughout, and
no other components of equity except for retained earnings.

State how the above will be treated /accounted in Cheery Limited’s Statement of profit and
loss, statement of changes in equity and in notes wherever required for current period and
earlier period(s) as per relevant Ind AS. (8 Marks)

(b) (a) Entity I sells a piece of machinery to the customer for Rs. 2 million, payable in 90 days.
Entity | is aware at contract inception that the customer might not pay the full contract price.
Entity | estimates that the customer will pay atleast Rs. 1.75 million, which is sufficient to
cover entity I's cost of sales (Rs. 1.5 million) and which entity | is willing to accept because it
wants to grow its presence in this market. Entity | has granted similar price concessions in
comparable contracts.

Entity | concludes that it is highly probable that it will collect Rs. 1.75 million, and such
amount is not constrained under the variable consideration guidance.

What is the transaction price in this arrangement?

(b) On 1 January 20X8, entity J enters into a one-year contract with a customer to deliver water
treatment chemicals. The contract stipulates that the price per container will be adjusted
retroactively once the customer reaches certain sales volume, defined, as follows:

Price per container Cumulative sales volume

Rs. 100 1- 1,000,000 containers

Rs. 90 1,000,001 - 3,000,000 containers
Rs. 85 3,000,001 containers and above

Volume is determined based on sales during the calendar year. There are no minimum
purchase requirements. Entity J estimates that the total sales volume for the year will be
2.8 million containers, based on its experience with similar contracts and forecasted sales to
the customer.

Entity J sells 700,000 containers to the customer during the first quarter ended
31 March 20X8 for a contract price of Rs. 100 per container.

How should entity J determine the transaction price?

(c) Entity K sells electric razors to retailers for Rs. 50 per unit. A rebate coupon is included inside the
electric razor package that can be redeemed by the end consumers for Rs. 10 per unit.
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Entity K estimates that 20% to 25% of eligible rebates will be redeemed, based on its experience
with similar programmes and rebate redemption rates available in the market for similar
programmes. Entity K concludes that the transaction price should incorporate an assumption of
25% rebate redemption, as this is the amount for which it is highly probable that a significant
reversal of cumulative revenue will not occur if estimates of the rebates change.

How should entity K determine the transaction price?

(d) A manufacturer enters into a contract to sell goods to a retailer for Rs. 1,000. The manufacturer
also offers price protection, whereby it will reimburse the retailer for any difference between the
sale price and the lowest price offered to any customer during the following six months. This
clause is consistent with other price protection clauses offered in the past, and the manufacturer
believes that it has experience which is predictive for this contract.

Management expects that it will offer a price decrease of 5% during the price protection period.
Management concludes that it is highly probable that a significant reversal of cumulative revenue
will not occur if estimates change.

How should the manufacturer determine the transaction price? (12 Marks)

3. (a) Discuss with reasons whether these events are in nature of adjusting or non-adjusting and the
treatment needed in light of accounting standard Ind AS 10.

(i)  Moon Ltd. won an arbitration award on 25t April, 20X1 for Rs. 1 crore. From the arbitration
proceeding, it was evident that the Company is most likely to win the arbitration award. The
directors approved the financial statements for the year ending 31.03.20X1 on 1st May,
20X1. The management did not consider the effect of the above transaction in Financial
Year 20X0-20X1, as it was favourable to the Company and the award came after the end of
the financial year.

(i)  Zoom Ltd. has a trading business of Mobile telephones. The Company has purchased 1000
mobiles phones at Rs. 5,000 each on 15t March, 20X1. The manufacturers of phone had
announced the release of the new version on 1st March, 20X1 but had not announced the
price. Zoom Ltd. has valued inventory at cost of Rs. 5,000 each at the year ending
31st March, 20X1.

Due to arrival of new advance version of Mobile Phone on 8th April, 20X1, the selling prices
of the mobile stocks remaining with Company was dropped at Rs. 4,000 each.

The financial statements of the company valued mobile phones @ Rs. 5,000 each and not
at the value @ Rs. 4,000 less expenses on sales, as the price reduction in selling price was
effected after 31.03.20X1.

(i) There as an old due from a debtor amounting to Rs. 15 lakh against whom insolvency
proceedings was instituted prior to the financial year ending 31st March, 20X1. The debtor
was declared insolvent on 15t April, 20X1.

(iv) Assume that subsequent to the year end and before the financial statements are approved,
Company’s management announces that it will restructure the operation of the company.
Management plans to make significant redundancies and to close a few divisions of
company’s business; however, there is no formal plan yet. Should management recognise
a provision in the books, if the company decides subsequent to end of the accounting year
to restructure its operations? (6 Marks)

(b) T Ltd is engaged in transport sector, running a fleet of buses at different routes. T Ltd has
identified 3 operating segments:

- Segment 1: Local Route
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- Segment 2: Inter-city Route
- Segment 3: Contract Hiring
The characteristics of each segment are as under:

Segment 1: The local transport authority awards the contract to ply the buses at different
routes for passengers. These contracts are awarded following a competitive tender process;
the ticket price paid by passengers are controlled by the local transport authority. T Ltd would
charge the local transport authority on a per kilometer basis.

Segment 2: T Ltd operates buses from one city to another, prices are set by T Ltd on the basis
of services provided (Deluxe, Luxury or Superior).

Segment 3: T Ltd also leases buses to schools under a long-term arrangement.

While Segment 1 has been showing significant decline in profitability, Segment 2 is performing
well in respect of higher revenues and improved margins. The management of the company is
not sure why is the segment information relevant for users when they should only be
concerned about the returns from overall business. They would like to aggregate the Segment
1 and Segment 2 for reporting under ‘Operating Segment’

Required:

Whether it is appropriate to aggregate Segments 1 and 2 with reference to Ind AS 108 ‘Operating
Segments’? and

Discuss, in the above context, whether disclosure of segment information is relevant to an
investor's appraisal of financial statements? (6 Marks)

(c) Shaurya Limited owns Building A which is specifically used for the purpose of earning rentals.
The Company has not been using the building A or any of its facilities for its own use for a long
time. The company is also exploring the opportunities to sell the building if it gets the reasonable
amount in consideration.

Following information is relevant for Building A for the year ending 31st March, 20X2:

Building A was purchased 5 years ago at the cost of Rs.10 crore and building life is estimated to
be 20 years. The company follows straight line method for depreciation.

During the year, the company has invested in another Building B with the purpose to hold it for
capital appreciation.  The property was purchased on 1st April, 20X1 at the cost of
Rs. 2 crore. Expected life of the building is 40 years. As usual, the company follows straight line
method of depreciation.

Further, during the year 20X1-20X2, the company earned / incurred following direct operating
expenditure relating to Building A and Building B:

Rental income from Building A = Rs. 75 lakh
Rental income from Building B = Rs. 25 lakh
Sales promotion expenses = Rs. 5 lakh
Fees & Taxes = Rs. 1 lakh
Ground rent = Rs. 2.5 lakh
Repairs & Maintenance = Rs. 1.5 lakh
Legal & Professional = Rs. 2 lakh
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Commission and brokerage = Rs. 1 lakh

The company does not have any restrictions and contractual obligations against buildings - A and
B. For complying with the requirements of Ind AS, the management sought an independent
report from the specialists so as to ascertain the fair value of buildings A and B. The
independent valuer has valued the fair value of property as per the valuation model
recommended by International valuation standards committee. Fair value has been computed by
the method by streamlining present value of future cash flows namely, discounted cash flow
method.

The other key inputs for valuation are as follows:

The estimated rent per month per square feet for the period is expected to be in the range of
Rs. 50 - Rs. 60. It is further expected to grow at the rate of 10 percent per annum for each of
3 years. The weighted discount rate used is 12% to 13%.

Assume that the fair value of properties based on discounted cash flow method is measured at
Rs. 10.50 crore on 31st March, 20X2.

What would be the treatment of Building A and Building B in the balance sheet of Shaurya
Limited? Provide detailed disclosures and computations in line with relevant Indian accounting
standards. Treat it as if you are preparing a separate note or schedule, of the given assets in the
balance sheet. (8 Marks)

4, (a) XYZissued Rs. 4,80,000 4% redeemable preference shares on 1st April 20X5 at par. Interest is
paid annually in arrears, the first payment of interest amounting Rs. 19,200 was made on
31st March 20X6 and it is debited directly to retained earnings by accountant. The preference
shares are redeemable for a cash amount of Rs. 7,20,000 on 31st March 20X8. The effective rate
of interest on the redeemable preference shares is 18% per annum. The proceeds of the issue
have been recorded within equity by accountant as this reflects the legal nature of the shares.
Board of directors intends to issue new equity shares over the next two years to build up cash
resources to redeem the preference shares.

Mukesh, Accounts manager of XYZ has been told to review the accounting of aforesaid issue.
CFO has asked from Mukesh the closing balance of preference shares at the year end. If you
were Mukesh, then how much balance you would have shown to CFO on analysis of the stated
issue. Prepare necessary adjusting journal entry in the books of account, if required. Analyze.

(5 Marks)

(b) Company X performed a revaluation of all of its plant and machinery at the beginning of 20X1.
The following information relates to one of the machinery:

Amount (‘000)
Gross carrying amount Rs. 200
Accumulated depreciation (straight-line method) (Rs. 80)
Net carrying amount Rs. 120
Fair value Rs. 150

The useful life of the machinery is 10 years and the company uses Straight line method of
depreciation. The revaluation was performed at the end of 4 years.

How should the Company account for revaluation of plant and machinery and depreciation
subsequent to revaluation? Support your answer with journal entries. (6 Marks)
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(c)

During the financial year 20X1-20X2, Akola Limited have paid various taxes & reproduced the
below mentioned records for your perusal:

- Capital gain tax of Rs. 20 crore on sale of office premises at a sale consideration of
Rs. 100 crore.

- Income Tax of Rs. 3 crore on Business profits amounting Rs. 30 crore (assume entire
business profit as cash profit).

- Dividend Distribution Tax of Rs. 2 crore on payment of dividend amounting Rs. 20 crore to
its shareholders.

- Income tax Refund of Rs. 1.5 crore (Refund on taxes paid in earlier periods for business
profits).

You need to determine the net cash flow from operating activities, investing activities and

financing activities of Akola Limited as per relevant Ind AS. (4 Marks)
Answer the following issues:
(i) State the categories defined in the International IR Framework for capitals. Comment

whether an organisation has to follow these categories rigidly.
(i) Can a Not-for Profit organisation do the Integrated Reporting as per the Framework?

(i) Can an Integrated reporting be done in compliance to the requirements of the local laws to
prepare a management commentary or other reports? (5 Marks)

Enterprise Ltd. has 2 divisions Laptops and Mobiles. Division Laptops has been making constant
profits while division Mobiles has been invariably suffering losses.

On 31st March, 20X2, the division-wise draft extract of the Balance Sheet was:
(Rs. in crores)

Laptops Mobiles Total
Property, Plant and Equipment cost 250 500 750
Depreciation 225 (400) 625
Net Property, Plant and Equipment (A) _25 _100 125
Current assets: 200 500 700
Less: Current liabilities _(25) (400) 425
(B) 75 _100 _275
Total (A+B) _200 _200 ~400
Financed by:
Loan funds - 300 300
Capital : Equity Rs. 10 each 25 - 25
Surplus 175 100 75
200 _200 400

Division Mobiles along with its assets and liabilities was sold for Rs. 25 crores to Turnaround
Ltd. a new company, who allotted 1 crore equity shares of Rs. 10 each at a premium of Rs. 15
per share to the members of Enterprise Ltd. in full settlement of the consideration, in proportion
to their shareholding in the company. One of the members of the Enterprise Ltd. was holding
52% shareholding of the Company.

Assuming that there are no other transactions, you are asked to:

(i) Pass journal entries in the books of Enterprise Ltd.

(i) Prepare the Balance Sheet of Enterprise Ltd. after the entries in (i).
7
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(iii) Prepare the Balance Sheet of Turnaround Ltd. (10 Marks)

(b) An entity purchases a debt instrument with a fair value of Rs. 1,000 on
15t March, 20X1 and measures the debt instrument at fair value through other comprehensive
income. The instrument has an interest rate of 5% over the contractual term of 10 years, and
has a 5% effective interest rate. At initial recognition, the entity determines that the asset is
not a purchased or original credit-impaired asset.

On 31st March 20X1 (the reporting date), the fair value of the debt instrument has decreased to
Rs. 950 as a result of changes in market interest rates. The entity determines that there has not
been a significant increase in credit risk since initial recognition and that ECL should be
measured at an amount equal to 12 month ECL, which amounts to Rs. 30.

On 1st April 20X1, the entity decides to sell the debt instrument for Rs. 950, which is its fair value
at that date.

Pass journal entries for recognition, impairment and sale of debt instruments as per
Ind AS 109. Entries relating to interest income are not to be provided. (5 Marks)

(c) An entity constructs a new office building commencing on 1st September, 20X1, which continues
till 31st December, 20X1 (and is expected to go beyond a year). Directly attributable expenditure
at the beginning of the month on this asset are Rs. 2 lakh in September 20X1 and Rs. 4 lakh in
each of the months of October to December 20X1.

The entity has not taken any specific borrowings to finance the construction of the building but
has incurred finance costs on its general borrowings during the construction period. During the
year, the entity had issued 9% debentures with a face value of Rs. 30 lakh and had an overdraft
of Rs. 4 lakh, which increased to Rs. 8 lakh in December 20X1. Interest was paid on the
overdraft at 12% until 15t October, 20X1 and then the rate was increased to 15%.

Calculate the capitalization rate for computation of borrowing cost for the period ending
31st December 20X1, in accordance with Ind AS 23 'Borrowing Cost'. (5 Marks)

6. (a) East Ltd. (East) owns a machine used in the manufacture of steering wheels, which are sold
directly to major car manufacturers.

e The machine was purchased on 1st April, 20X1 at a cost of Rs. 5,00,000 through a vendor
financing arrangement on which interest is being charged at the rate of 10 per cent per
annum.

e During the year ended 315t March, 20X3, East sold 10,000 steering wheels at a selling
price of Rs. 190 per wheel.

e The most recent financial budget approved by East's management, covering the period
1st April, 20X3 - 31st March, 20X8, including that the company expects to sell each
steering wheel for Rs. 200 during 20X3-X4, the price rising in later years in line with a
forecast inflation of 3 per cent per annum.

e During the year ended 31st March, 20X4, East expects to sell 10,000 steering wheels.
The number is forecast to increase by 5 per cent each vyear until
31st March, 20X8.

o East estimates that each steering wheel costs Rs. 160 to manufacture, which includes
Rs. 110 variable costs, Rs. 30 share of fixed overheads and Rs. 20 transport costs.

o Costs are expected to rise by 1 per cent during 20X4-X5, and then by 2 per cent per
annum until 31st March, 20X8.
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e During 20X5-X6, the machine will be subject to regular maintenance costing
Rs. 50,000.

e In 20X3-X4, East expects to invest in new technology costing Rs. 1,00,000. This
technology will reduce the variable costs of manufacturing each steering wheel from
Rs. 110 to Rs. 100 and the share of fixed overheads from Rs. 30 to Rs. 15 (subject to the
availability of technology, which is still under development).

o East is depreciating the machine using the straight line method over the machine’s
10 year estimated useful life. The current estimate (based on similar assets that have
reached the end of their useful lives) of the disposal proceeds from selling the machine is
Rs. 80,000 net of disposal costs. East expects to dispose of the machine at the end of
March, 20X8.

e East has determined a pre-tax discount rate of 8 per cent, which reflects the market's
assessment of the time value of money and the risks associated with this asset.

Assume a tax rate of 30%. What is the value in use of the machine in accordance with Ind
AS 367 (10 Marks)

(b) Mercury Ltd. has sold goods to Mars Ltd. at a consideration of Rs. 10 lakhs, the receipt of which
receivable in three equal installments of Rs. 3,33,333 over a two year period (receipts on
1st April, 20X1, 31st March, 20X2 and 31st March, 20X3).

The company is offering a discount of 5 % (i.e. Rs. 50,000) if payment is made in full at the time
of sale. The sale agreement reflects an implicit interest rate of 5.36% p.a.

The total consideration to be received from such sale is at Rs. 10 Lakhs and hence, the
management has recognised the revenue from sale of goods for Rs. 10 lakhs. Further, the
management is of the view that there is no difference in this aspect between Indian GAAP and
Ind AS.

Analyse whether the above accounting treatment made by the accountant is in compliance of the
Ind AS. If not, advise the correct treatment along with working for the same. Also show its
presentation in the company’s profit & loss and balance sheet. (6 Marks)

(c) EITHER
What is the functional currency of an entity?
What are the primary and secondary factors that influence determination of functional currency?
(4 Marks)
OR

ABC Ltd. has 1,000,000 Rs. 1 ordinary shares and 1,000 Rs. 100 10% convertible bonds (issued
at par), each convertible into 20 ordinary shares on demand, all of which have been in issue for
the whole of the reporting period.

ABC Ltd.’s share price is Rs. 4.50 per share and earnings for the period are Rs. 500,000. The tax
rate applicable to the entity is 21%.

Calculate basic EPS, earnings per incremental share for the convertible bonds and diluted EPS.
(4 Marks)
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